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et I —HITOMGRERERR

AR i 2-14

SHISEE
BIEE (178 —X)LNER)
BIE B - R IE I Hh 2 I 25 e
5cm 50c¢m 100cm
ORE ST — 0.08 — PA-1000
220K N |QEmEIE — 0.06 — PA-1000
QEEHIE — 0.05 — PA-1000
OREHA — 0.07 — PA-1000
8/17(K)EY |QEmEEES — 0.05 — PA-1000
QEEIHIG — 0.04 — PA-1000
2/11

(#413)



et I —H TG RERERR

AR i 2-14

SH2EE
AIEB/(TA0—R)LER)
BIE B -XRIE I Hh 2 A E R e
5cm 50c¢m 100cm
ORE ST — 0.10 — PA-1000
1/5(R)EEN  |QEEEEE — 0.07 — PA-1000
QREIHIZ — 0.06 — PA-1000
OREGFT — 0.11 — PA-1000
5/12CR) BN |QEmEHEE — 0.06 — PA-1000
QEEIHIZ — 0.06 = PA-1000
SRR3R
BIEME (10— )LNEE)
BIE B - RIx I TE 2 BIE R e
5cm 50cm 100¢cm
ORESFT — 0.10 — PA-1000
1M/ EN  |QEmETEL — 0.08 — PA-1000
Q@EEHEE — 0.05 — PA-1000
OREGFT — 0.10 — PA-1000
5/71C) N |QEmEE — 0.04 — PA-1000
Q@EEHIE — 0.09 — PA-1000
3/11 (#213)



et I —H TG RERERR

AR i 2-14

F iR 304F BE
AIEB/(TA0—R)LER)
BIE B -XRIE I Hh 2 A E R e
5cm 50c¢m 100cm
ORE ST — 0.10 — PA-1000
1/2(2) N |QEEEEE — 0.08 — PA-1000
QREIHIZ — 0.05 — PA-1000
OREGFT — 0.09 — PA-1000
5/8CK)EY |QEMEEES — 0.05 — PA-1000
QEEIHIZ — 0.06 = PA-1000
F R 294F BE
BIEME (10— )LNEE)
BIE B - RIx I TE 2 BIE R e
5cm 50cm 100¢cm
ORESFT — 0.10 — PA-1000
1M/2(R)EN  |QEmEIE — 0.06 — PA-1000
Q@EEHEE — 0.05 — PA-1000
OREGFT — 0.11 — PA-1000
52(Q) N |QEmEIEL — 0.08 — PA-1000
Q@EEHIE — 0.07 — PA-1000
4/11 (#213)



et I —H TG RERERR

AR i 2-14

SRR 284F BE
AIEB/(TA0—R)LER)
BIE B -XRIE I Hh 2 A E R e
5cm 50c¢m 100cm
ORE ST — 0.12 — PA-1000
1/4(E) N |QEEEEE — 0.07 — PA-1000
QREIHIZ — 0.06 — PA-1000
OREGFT — 0.12 — PA-1000
5/11OKEY  |QEmEEES — 0.08 — PA-1000
QEEIHIZ — 0.07 = PA-1000
FRR2TEEE
BIEME (10— )LNEE)
BIE B - RIx I TE 2 BIE R e
5cm 50cm 100¢cm
ORESFT — 0.14 — PA-1000
1M/5(R)EN  |QEmEIE — 0.07 — PA-1000
Q@EEHEE — 0.06 — PA-1000
OREGFT — 0.16 — PA-1000
5/1(R)EY  |QEmEEES — 0.17 — PA-1000
Q@EEHIE — 0.08 — PA-1000
5/11 (#213)



et I —H TG RERERR

AR i 2-14

T RR264E
BIE(E (R4S —R)LER)
HIE B - XKIE B Hh s B E 2R e
5cm 50¢m 100cm
OREBZA — 0.15 — PA-1000
2/3(R)EN  |QEMEEIES — 0.17 — PA-1000
QEEIHIE — 0.11 — PA-1000
OREBZM — 0.18 — PA-1000
11/60K) &Y |QEmEIES — 0.18 — PA-1000
QEEIHIS — 0.12 — PA-1000
OREBZM — 0.16 — PA-1000
8/1(&) Bh |QEEEES — 0.19 — PA-1000
QEEIHIS — 0.12 — PA-1000
OREBZA — 0.17 — PA-1000
5/2(%) Bh |QEmEEIES — 0.15 — PA-1000
QEEIHIS — 0.09 — PA-1000
6/11 (#13)



e A—EITOMSTRERERR

AR i 2-14

R 254 BE
AIEB (A0 —N)LNER)
BB - X% I 7E #h 22 BIE 2R o]
5cm 50cm 100¢m
OREHR — 0.17 — PA-1000
/4(R)EN  |QEMEEIEE — 0.15 — PA-1000
QREIHIZ — 0.11 — PA-1000
OREZR — 0.17 — PA-1000
2/6(R)EEN QIEmEES — 0.16 — PA-1000
QREHIZ — 0.10 = PA-1000
OREHR — 0.17 — PA-1000
1 /f(%z)eﬂgh QEmEES — 0.15 — PA-1000
QHEIHIZ — 0.10 — PA-1000
ORESFT — 0.17 — PA-1000
12/3CR) BN |QEmEIE — 0.16 — PA-1000
QREEIHIZ — 0.08 — PA-1000
OREGFT — 0.19 — PA-1000
11/6(K) EEN  |QEEEES — 0.19 — PA-1000
QFREHES — 0.10 — PA-1000
OREZR — 0.18 — PA-1000
10/4(2)Eh  |QEEEES — 0.15 — PA-1000
QREIHIZ — 0.10 — PA-1000
7/11 (#213)



e A—EITOMSTRERERR

AR i 2-14

R 254 BE
H%E B - Xix BE M R MER(xA7R>— 7V rER) BIE 2R o]
5cm 50cm 100¢m
OREHR — 0.15 — PA-1000
9/3(R)EN  |QEMEEIEE — 0.18 — PA-1000
QREIHIZ — 0.10 — PA-1000
OREZR — 0.15 — PA-1000
8/2(&)EN QIEmEES — 0.18 — PA-1000
QREHIZ — 0.13 = PA-1000
OREHR — 0.19 — PA-1000
772K BN QIEmEES — 0.16 — PA-1000
QHEIHIZ — 0.09 — PA-1000
OREHR — 0.20 — PA-1000
6/4(CR)EEN QIEmEES — 0.10 — PA-1000
QREEIHIZ — 0.11 — PA-1000
OREGFT — 0.19 — PA-1000
5/150K)iEh  |QEmEEEE — 0.10 — PA-1000
QFREHES — 0.10 — PA-1000
OREZR — 0.20 — PA-1000
415(A)EN |QEEEES — 0.11 — PA-1000
QREIHIZ — 0.12 — PA-1000
8/11 (#213)



eI —HEITOMARERERR (FR23~24FF)
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e A—EITOMSTRERERR

AR i 2-14

SRR 245E B
i i BIEE (AU —N LG —
AE H - KR 3B 5E b 5 E'fm“‘( ’75 O: : f(*)ﬂjc)m B 58 B
- OAY AT — 0.19 — PA-1000
3/1(E) =L
/(&) Y QB H 5 — 0.14 — PA-1000
OAY AT — 0.14 — PA-1000
1(2) B
2/1(&) Bh QE EIE _ 013 — PA-1000
254 DAYORT — 0.16 — PA-1000
1/71(R) Bh |0tz — 0.15 — PA-1000
L o _ — —_
12/5(K) BN g;;;” e —
L) O # — _ _
11/70K) BEh g;;ﬁ;u g-:; Ei—:ggg
L o _ — —_
10/20K) Bh g;;;” = —
OAYO#T — 0. 15 — PA-1000
9/4(K) BE
(R T QETE 15 — 0.12 — PA-1000
L t — — —_
8./2(K) Fh g;;;” 8' 12 Ei—:ggg
L) O g _ _ _
7.730K) Bh g;; ;T;J 8' 12 Ei_:ggg
5 Em _ _ -
6./7(K) Eih g;;;;” — 8' 12 = ii—:ggg
5 Em _ _ -
5./8(4) EY gé;;;” — 8' ?; = Ei—:ggg
=, |OAYDOR] — 0. 20 — PA-1000
4,12 £l
) g QETEI5 — 0.16 — PA-1000
10/11 (#413)



e A—EITOMSTRERERR

AR i 2-14

RR234ERE
— — BIEE (Ao —N)LER —
AEE-XME AR EB QA8 BR) ) mws %
5cm 50c¢cm 100c¢m
- OAY AT — 0.19 0.19 PA-1000
31 =L
1R 2Y QETEH 15 — 0. 21 — PA-1000
OAY AT — 0.17 0. 20 PA-1000
2/2 =5
7 20R) B QETE 15 — 0. 20 — PA-1000
244 OAY O] — 0. 22 0. 28 PA-1000
/10K 8Y  |osEs — 0.19 —_ PA-1000
1276 (K) =Y |ButthhiE(FRI7ILE) — 0. 29 0. 26 PA-1000
RIS EER T (3> o —hk) — 0. 39 — PA-1000
11/17(K) B |BAIEEZ(ZRAT7ILEN — 0. 25 — PA-1000
EXRiBRI(a>o)—h) — 0. 63 — PA-1000
FRL235E Eh i ER (T AT 7ILE) — 0. 22 0. 21 PA-1000

11/8(K) =Y

11/11

(#413)



